	I
	II

	79+26+34+111=
	48*11=

	483+126=
	635+249=

	5:100=
	196*9=

	11*78=
	10*21,3=

	5,7*1000=
	0,7:10=

	315:25=
	26-19=

	168*2,5=
	23*1001=

	998*996=
	135+67+65+23=

	74*101=
	400:25=

	423-95=
	987-125=

	654*4
	543+153=

	425:50=
	543:50=

	483+126=
	5867+4347=

	1908-895=
	396-87=

	123+65=
	999*995=

	569-565=
	98*8=

	356-45-56=
	7687+98=

	769+359=
	56-29=

	789-648=
	124*2,5=

	548*99=
	654*50=

	16:0,125=
	599+23+67=

	459-236=
	569-243=

	8656+899=
	129*15=

	654*5=
	1994-(1596-456)=

	
	


